Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	108	6.	Date - site Register	e bills	13	Flower	22
Company Name:	MPPL		Site:		May	Flower	Platin
Name of Contractor	Raviel	hand			/		
Nature of work	tiles	worke				1	
Work done	From Date		01/2022	To Date	10	101/20	22_
SI. Villa/Flat/block no No. Tiles Lyy of	Qty.	Rate	Unit	s Amo	unt	Con bill	tractors no
1. C406, (-906-1							
2. Yetrofied tilly	1170 X		/- Sf1		420=0		
3. Toilets	600 x	2 16	1- sf		200=		
4. Artangutilit 5. Skirting 3"	140×	2 13	F 5+		6402		
5. Skirting 36	360 W	2 13	[- Sf1	- 9	360 21	0	
6.							
7.							
8.	The second secon						-
9.	Annual Control State of State				1		
10.				/)	1100	· ·	
	Cotal:		CCT bill m		620=	S NO	
Bill required	□ YES ☑N	О.	GST bill re				•
Measurement &	Required	and d	Measurem estimate sh		Enc.	losed enclose	·d
estimate sheet: PO/WO no.	□ Not requi	rea	PO/WO da		- Not	. CHOIOSC	
Remarks:							
Telliano .							
Approved by Project M	anager A	Approved b	y Design Te	eam Ap	proved	by M.D	•
Date: 12/01/202	- <u>2</u> [Date:		Da	te:		
Sign: 1 l		Sign:		Sig	gn:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor Di Laz Parilyano

					Since in words - sixty I wo I nousand Six Hundred and Twenty rupees only	Suitable and as - Sixty I Wo	
62620					Total	Amount in words Sixty Time 1	
31310							
	4,680.00	13.00	sft	360.00	Skirting 3"	Skirting	4
	1,820.00	13.00	sft	140.00	Kitchen & utility tiles work	Nitchen & Utility	
	9,600.00	16.00	sft	600.00	Toilets	Toilets tiles work	2
	15,210.00	13.00	sft	1170.00	Vetrified Tiles Flooring 65% of 1500	Tiles flooring work	
					flat	Tiles work at C-906-1800 sft flat	
31310							
	4,680.00	13.00	sft	360.00	Skirting 3"	Skirting	4
	1,820.00	13.00	sft	140.00	Kitchen & utility tiles work	Kitchen & Utility	ω
	9,600.00	16.00	sft	600.00	Toilets	Toilets tiles work	2
	15,210.00	13.00	sft	1170.00	Vetrified Tiles Flooring 65% of 1500	Tiles flooring work	_
					lat	Tiles work at C-406-1800 sft flat	
						Tiles work at C-406, C-906	
Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
					12-01-2021		Date:
					K.Narender Reddy	3у	Prepared By
					Ravichand	Name of the Contractor	Name of th
					Tiles work at C-406, C-906	cription:	Work Description:
					May Flower Platinum		roject:
					MPPL	Name:	.mpany Name:
Reddy	O. V. OUDDA NEUUY	Approved				ATE SHEET	뇝
	0 1 0 6						

Bill for Consumables

Ravi Chand Mallapur Hyderabad

Date:12-01-2022

In favor of:

MPL

Project / Site:

MFPP

Location:

82/1. Mallapur

Type of Work:

Tiles work at C-406, C-906

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done Tiles work at C-406,	
	C-906. Total amount =Rs 62620=00	Rs.12524=00
	Work done from date 02-01-2022 to 10-01-2022	

Amount in words: Twelve Thousand Five Hundred and Twenty Four rupees only.

Sion	
Sign:	

Bill for Equipment Allowance Ravi Chand

Ravi Chand Mallapur Hyderabad

Date:12-01-2022

In favor of:

MPL

Project / Site: Location: MFPP 82/1. Mallapur

Type of Work:

Tiles work at C-406, C-906

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done Tiles work at C-406,	
	C-906. Total amount =Rs 62620=00	Rs.25048=00
	Work done from date 02-01-2022 to 10-01-2022	

Amount in words: Twenty Five Thousand and Fourty Eight rupees only.

Sign:	
_	

Bill for Labour charges

Ravi Chand Mallapur Hyderabad

Date:12-01-2022

In favor of:

MPL

Project / Site:

MFPP

Location:

82/1. Mallapur

Type of Work:

Tiles work at C-406, C-906

Towards:

Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done Tiles work at C-406,	
	C-906. Total amount =Rs 62620=00	Rs.25048=00
	Work done from date 02-01-2022 to 10-01-2022	

Amount in words: Twenty Five Thousand and Fourty Eight rupees only.

Sign:	
Jigii.	